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N.B. :— () Question No. 1 is compulsory.
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(i1)  Figures to the right indicate full marks.
SSeerd 3 gl USRI
(ii1) Use of simple calculator is allowed.

I ORI STOuaTd  qeETi 3R,

1. Construct the Fisher's Ideal Index Number of price from the following

information and show how it satisfies the time reversal test : 20
Commodity 2021 2022
Price Quantity Price Quantity
A 6 40 10 50
B 4 70 5 60
C 7 80 10 70
D 10 90 12 80
E 15 60 16 55
P.T.O.
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T Hifgdiaed fryr=n eyt foaa feynes e 1o 9a Schrrdr ar=oi

qqrEr
q=] 2021 2022
foraa | =T feaa | @@=
A 6 40 10 50
B 4 70 5 60
C 7 80 10 70
D 10 90 12 80
E 15 60 16 55
If : 15
4 6 8 5 4 -4 7 6 2

-|6-3 2[B=[4 2 1/|,C=3 4 7
3 7 4 33 6 4 2 -1

solve :

@) A+ B+ C

(i) 2A + 2B - C.
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A=|6 3 2|B=|4 2

3 7 4
Hrea

@) A+B+C
(ir) 2A + 2B - C
If :

2 4 3]
A=|5 3.2|B
42 5

solve :
(2) A+B+C
(i) 3A + 2B - C.

4 6 8

-4

4 2 -1
Or
(femam)
-1 (6 4 3]
4).c=[2 -2 3
4] 3 6 2

3 )

7 6 2

1[,C=|3 4 7
33 6
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(2 4 3] (3 2 -1] 6 4 3
A=|5 3 2|B=|2 5 4 [,C=|2 -2 3

4 25| |73 4] [3 6 2

oredr
@) A+B+C

(ir) 3A + 2B - C.

A bag contains 9 green balls, 6 yellow and 5 blue balls. Three balls are drawn
at random. What is the probability that one ball is yellow and other two balls

are green. 15

e fieeta o fewd =g, 6 fyaes suftt 5 e = s, fereiqy 0 < agf=s
(i e, T <e. fJdesl oMt I <. fotd STHuar=l e el

Or
(feram)
Find the compound interest of the amount Rs. 90,000 at 5% per annum for

four years.

90,000 ¥TUA 5% I 4 WS TArfdel STHAT N TRRHORIA Tshall TS hIal.
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Find the value : 15
@  '2c,
@) %P
T Qe
@  12c,
@) 1P
Or
(fenam)
(@) An agent received Rs. 3,200 as commission on the sale of property.
If the amount for which the commission was obtained was Rs. 40,000.
Find the rate percentage of commission.
TehT Hueii=a foshlel Tah! TSied 3,200 ¥93 SHiyH fHael. o1 WehierR gy
fHeslel < ¥@hH 40,000 TYI BT, T IO HHIEAT L H1F Bl al el
(i1) A purchaser received discount of 5% on the selling price of an article.

If he paid Rs. 42, what was the selling price of article ?

Teh! BRGQNIA 9K BR&M 5% 0 g o, SR &M f a%] 42 09

fa fa N o a oo \r\-)

TSl el 3 T A agE! foashl fehAd s B
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5. Solve any two from the following : 10
TATTIR! RIS & wedl
(@) Types of Matrices
YRUIE THR
(i) Need of Index Numbers
e TR
(ziz) In how many ways can the letters of the word ‘COMMISSION’ be
arranged ?
‘COMMISSION' =1 viear=t 218 fohcit. fo=1 JahR AR =l 3dta ?
(tv)  What will be the simple interest.on Rs. 10,000 at 4% per annum for
three years ?
T. WL T I 4% T 10,000 TYAE < GNTE Wlesedrst fehdl ?
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